MAPS Person/Route-level aggregation syntax

Calculate mean of multiple segments, crossings and cul-de-sacs for a route

**** SEGMENTS SUBSCALE MEANS ****

COMPUTE S_10_MEAN=MEAN(S1_10 _feet, S2_10 _feet, S3_10 _feet, S4_10 _feet, S5_10 _feet, S6_10 _feet, S7_10 _feet, S8_10 _feet, S9_10 _feet). 

EXECUTE.

COMPUTE S_10_dichot_MEAN=MEAN(S1_10_dichot, S2_10_dichot, S3_10_dichot, S4_10_dichot, S5_10_dichot, S6_10_dichot, S7_10_dichot, 

S8_10_dichot, S9_10_dichot). 

EXECUTE.

COMPUTE Segments_PosBldgHtSetbks_MEAN=MEAN (PosBldgHtSetbks_S1, PosBldgHtSetbks_S2, PosBldgHtSetbks_S3, PosBldgHtSetbks_S4, PosBldgHtSetbks_S5, PosBldgHtSetbks_S6, 

PosBldgHtSetbks_S7, PosBldgHtSetbks_S8, PosBldgHtSetbks_S9). 

EXECUTE.

COMPUTE Segments_Sidewalk_Pos_MEAN=MEAN (Sidewalk_Pos_S1, Sidewalk_Pos_S2, Sidewalk_Pos_S3, Sidewalk_Pos_S4, Sidewalk_Pos_S5,

Sidewalk_Pos_S6, Sidewalk_Pos_S7, Sidewalk_Pos_S8, Sidewalk_Pos_S9).

EXECUTE.

COMPUTE Segments_Buffers_Pos_MEAN=MEAN (Buffers_Pos_S1, Buffers_Pos_S2, Buffers_Pos_S3, Buffers_Pos_S4, Buffers_Pos_S5, Buffers_Pos_S6, Buffers_Pos_S7,

Buffers_Pos_S8, Buffers_Pos_S9).

EXECUTE.

COMPUTE Segments_Bike_Infra_MEAN=MEAN (Bike_Infra_S1, Bike_Infra_S2, Bike_Infra_S3, Bike_Infra_S4, Bike_Infra_S5, Bike_Infra_S6, Bike_Infra_S7, Bike_Infra_S8, Bike_Infra_S9).

EXECUTE.

COMPUTE Segments_BldgAesthDes_MEAN=MEAN (BldgAesthDes_S1, BldgAesthDes_S2, BldgAesthDes_S3, BldgAesthDes_S4, BldgAesthDes_S5, BldgAesthDes_S6, BldgAesthDes_S7,

BldgAesthDes_S8, BldgAesthDes_S9).

EXECUTE.

COMPUTE Segments_Trees_MEAN=MEAN (Trees_S1, Trees_S2, Trees_S3, Trees_S4, Trees_S5, Trees_S6, Trees_S7, Trees_S8, Trees_S9).

EXECUTE.

COMPUTE Segments_BldgHt_RdWdthSetbk_Ratio_Scores_MEAN=MEAN (BldgHt_RdWdthSetbk_Ratio_Scores_S1, BldgHt_RdWdthSetbk_Ratio_Scores_S2, BldgHt_RdWdthSetbk_Ratio_Scores_S3, 

BldgHt_RdWdthSetbk_Ratio_Scores_S4, BldgHt_RdWdthSetbk_Ratio_Scores_S5, BldgHt_RdWdthSetbk_Ratio_Scores_S6, BldgHt_RdWdthSetbk_Ratio_Scores_S7, BldgHt_RdWdthSetbk_Ratio_Scores_S8, 

BldgHt_RdWdthSetbk_Ratio_Scores_S9).

EXECUTE.

COMPUTE Segments_Sidewalk_Neg_MEAN=MEAN (Sidewalk_Neg_S1, Sidewalk_Neg_S2, Sidewalk_Neg_S3, Sidewalk_Neg_S4, Sidewalk_Neg_S5, Sidewalk_Neg_S6, Sidewalk_Neg_S7,

Sidewalk_Neg_S8, Sidewalk_Neg_S9).

EXECUTE.

COMPUTE Segments_Sidewalk_Neg_Slope_S_MEAN=MEAN (Sidewalk_Neg_Slope_S_S1, Sidewalk_Neg_Slope_S_S2, Sidewalk_Neg_Slope_S_S3, Sidewalk_Neg_Slope_S_S4, Sidewalk_Neg_Slope_S_S5, 

Sidewalk_Neg_Slope_S_S6, Sidewalk_Neg_Slope_S_S7, Sidewalk_Neg_Slope_S_S8, Sidewalk_Neg_Slope_S_S9).

EXECUTE.

COMPUTE Segments_Sidewalk_Neg_Slope_C_MEAN=MEAN (Sidewalk_Neg_Slope_C_S1, Sidewalk_Neg_Slope_C_S2, Sidewalk_Neg_Slope_C_S3, Sidewalk_Neg_Slope_C_S4, Sidewalk_Neg_Slope_C_S5, 

Sidewalk_Neg_Slope_C_S6, Sidewalk_Neg_Slope_C_S7, Sidewalk_Neg_Slope_C_S8, Sidewalk_Neg_Slope_C_S9).

EXECUTE.

COMPUTE Segments_Neg_Street_Des_MEAN=MEAN (Neg_Street_Des_S1, Neg_Street_Des_S2, Neg_Street_Des_S3, Neg_Street_Des_S4, Neg_Street_Des_S5, Neg_Street_Des_S6, Neg_Street_Des_S7,

Neg_Street_Des_S8, Neg_Street_Des_S9).

EXECUTE.

****summary variables***

COMPUTE Segments_Pos_MEAN=MEAN (Segments_Pos_S1,Segments_Pos_S2,Segments_Pos_S3,Segments_Pos_S4,Segments_Pos_S5, Segments_Pos_S6, Segments_Pos_S7, Segments_Pos_S8, Segments_Pos_S9). 

EXECUTE.

COMPUTE Segments_Neg_Senior_MEAN=MEAN (Segments_Neg_Senior_S1,  Segments_Neg_Senior_S2, Segments_Neg_Senior_S3, Segments_Neg_Senior_S4, Segments_Neg_Senior_S5, 

Segments_Neg_Senior_S6, Segments_Neg_Senior_S7, Segments_Neg_Senior_S8, Segments_Neg_Senior_S9). 

EXECUTE. 

COMPUTE Segments_Neg_Child_MEAN=MEAN (Segments_Neg_Child_S1,  Segments_Neg_Child_S2, Segments_Neg_Child_S3, Segments_Neg_Child_S4, Segments_Neg_Child_S5, 

Segments_Neg_Child_S6, Segments_Neg_Child_S7, Segments_Neg_Child_S8, Segments_Neg_Child_S9). 

EXECUTE.

COMPUTE OverallSegment_Senior_MEAN=MEAN (Overall_Segment_Senior_S1,Overall_Segment_Senior_S2,Overall_Segment_Senior_S3, Overall_Segment_Senior_S4,Overall_Segment_Senior_S5,

Overall_Segment_Senior_S6, Overall_Segment_Senior_S7, Overall_Segment_Senior_S8, Overall_Segment_Senior_S9).

EXECUTE.

COMPUTE OverallSegment_Child_MEAN=MEAN (Overall_Segment_Child_S1,Overall_Segment_Child_S2,Overall_Segment_Child_S3, Overall_Segment_Child_S4,Overall_Segment_Child_S5, 

Overall_Segment_Child_S6, Overall_Segment_Child_S7, Overall_Segment_Child_S8, Overall_Segment_Child_S9).

EXECUTE.

****CROSSINGS SUBSCALE MEANS ***

COMPUTE CrosswalkAmenities_MEAN=MEAN(CrosswalkAmenities_C1, CrosswalkAmenities_C2, CrosswalkAmenities_C3, CrosswalkAmenities_C4, CrosswalkAmenities_C5, CrosswalkAmenities_C6, 

CrosswalkAmenities_C7, CrosswalkAmenities_C8).

EXECUTE.

COMPUTE CurbQual_MEAN=MEAN(CurbQual_C1, CurbQual_C2, CurbQual_C3, CurbQual_C4, CurbQual_C5, CurbQual_C6, CurbQual_C7, CurbQual_C8).

EXECUTE.
COMPUTE IntsectCtrlSign_MEAN=MEAN(IntsectCtrlSign_C1, IntsectCtrlSign_C2, IntsectCtrlSign_C3, IntsectCtrlSign_C4, IntsectCtrlSign_C5, IntsectCtrlSign_C6, IntsectCtrlSign_C7, IntsectCtrlSign_C8).

EXECUTE.
COMPUTE Road_Width_MEAN=MEAN(Road_Width_C1, Road_Width_C2, Road_Width_C3,Road_Width_C4, Road_Width_C5, Road_Width_C6, Road_Width_C7, Road_Width_C8).

EXECUTE.
COMPUTE Cross_Imped_MEAN=MEAN(Cross_Imped_C1, Cross_Imped_C2, Cross_Imped_C3, Cross_Imped_C4, Cross_Imped_C5, Cross_Imped_C6, Cross_Imped_C7, Cross_Imped_C8).

EXECUTE.
COMPUTE PosCrossChars_MEAN=MEAN (PosCrossChars_C1,PosCrossChars_C2,PosCrossChars_C3,PosCrossChars_C4,PosCrossChars_C5,PosCrossChars_C6, PosCrossChars_C7,PosCrossChars_C8). 

EXECUTE.
COMPUTE NegCrossChars_MEAN=MEAN (NegCrossChars_C1,NegCrossChars_C2, NegCrossChars_C3,NegCrossChars_C4,NegCrossChars_C5,NegCrossChars_C6, NegCrossChars_C7,NegCrossChars_C8). 

EXECUTE.
COMPUTE OverallCrossScore_MEAN=MEAN (OverallCrossScore_C1,OverallCrossScore_C2,OverallCrossScore_C3,OverallCrossScore_C4,OverallCrossScore_C5,OverallCrossScore_C6, OverallCrossScore_C7,OverallCrossScore_C8).

EXECUTE.
**** CUL-DE-SAC SCORE MEAN ****
COMPUTE OverallCDScore_MEAN=MEAN(OverallCdSScore_D1, OverallCdSScore_D2).

EXECUTE.

Recode first/closest segment and crossings for a route

**** SEGMENTS ****

RECODE PosBldgHtSetbks_S1 (ELSE=Copy) INTO PosBldgHtSetbks_FIRST.

EXECUTE.

RECODE Sidewalk_Pos_S1(ELSE=Copy) INTO Sidewalk_Pos_FIRST.

EXECUTE.

RECODE Buffers_Pos_S1(ELSE=Copy) INTO Buffers_Pos_FIRST.

EXECUTE.

RECODE Bike_Infra_S1 (ELSE=Copy) INTO Bike_Infra_FIRST.

EXECUTE.

RECODE BldgAesthDes_S1 (ELSE=Copy) INTO BldgAesthDes_FIRST.

EXECUTE.

RECODE Trees_S1 (ELSE=Copy) INTO Trees_FIRST.

EXECUTE.

RECODE BldgHt_RdWdthSetbk_Ratio_Scores_S1 (ELSE=Copy) INTO BldgHt_RdWdthSetbk_Ratio_Scores_FIRST.

EXECUTE.

RECODE Sidewalk_Neg_S1 (ELSE=Copy) INTO Sidewalk_Neg_FIRST.

EXECUTE.

 RECODE Sidewalk_Neg_Slope_S_S1 (ELSE=Copy) INTO Sidewalk_Neg_Slope_S_FIRST.

EXECUTE.

RECODE Sidewalk_Neg_Slope_C_S1 (ELSE=Copy) INTO Sidewalk_Neg_Slope_C_FIRST.

EXECUTE.

RECODE Neg_Street_Des_S1  (ELSE=Copy) INTO Neg_Street_Des_FIRST.

EXECUTE.

RECODE Segments_Pos_S1 (ELSE=Copy) INTO PosSegChars_FIRST.

EXECUTE.

RECODE Segments_Neg_Senior_S1 (ELSE=Copy) INTO NegSegChars_S_FIRST.

EXECUTE.

RECODE Segments_Neg_Child_S1 (ELSE=Copy) INTO NegSegChars_C_FIRST.

EXECUTE.

RECODE Overall_Segment_Senior_S1(ELSE=Copy) INTO OverallSegScore_S_FIRST.

EXECUTE.

RECODE Overall_Segment_Child_S1(ELSE=Copy) INTO OverallSegScore_C_FIRST.

EXECUTE.

****CROSSINGS***

RECODE CrosswalkAmenities_C1(ELSE=Copy) INTO CrosswalkAmenities_FIRST.

EXECUTE.

RECODE CurbQual_C1 (ELSE=Copy) INTO CurbQual_FIRST.

EXECUTE.

RECODE IntsectCtrlSign_C1 (ELSE=Copy) INTO IntsectCtrlSign_FIRST.

EXECUTE.

RECODE Cross_Imped_C1 (ELSE=Copy) INTO Cross_Imped_FIRST.

EXECUTE.

RECODE Road_Width_C1 (ELSE=Copy) INTO Road_width_sum_FIRST.

EXECUTE.

RECODE PosCrossChars_C1 (ELSE=Copy) INTO PosCrossChars_FIRST.

EXECUTE.

RECODE NegCrossChars_C1 (ELSE=Copy) INTO NegCrossChars_FIRST.

EXECUTE.

RECODE OverallCrossScore_C1 (ELSE=Copy) INTO OverallCrossScore_FIRST.

EXECUTE.
Recode highest and lowest positive and negative subscale scores across multiple segments and crossings per route
****SEGMENTS****

*Highest positive score (best of the positive characteristics)

COMPUTE Pos_BldgHtSetbks_HIGHEST=MAX(PosBldgHtSetbks_S1, PosBldgHtSetbks_S2, PosBldgHtSetbks_S3, PosBldgHtSetbks_S4, PosBldgHtSetbks_S5, PosBldgHtSetbks_S6, PosBldgHtSetbks_S7,

PosBldgHtSetbks_S8, PosBldgHtSetbks_S9).

EXECUTE.
COMPUTE Pos_Sidewalk_Qual_HIGHEST=MAX(Sidewalk_Pos_S1, Sidewalk_Pos_S2, Sidewalk_Pos_S3, Sidewalk_Pos_S4, Sidewalk_Pos_S5, Sidewalk_Pos_S6,

Sidewalk_Pos_S7, Sidewalk_Pos_S8, Sidewalk_Pos_S9 ).

EXECUTE.

COMPUTE Pos_Buffers_HIGHEST=MAX(Buffers_Pos_S1, Buffers_Pos_S2, Buffers_Pos_S3, Buffers_Pos_S4, Buffers_Pos_S5, Buffers_Pos_S6, Buffers_Pos_S7, Buffers_Pos_S8, Buffers_Pos_S9). 

EXECUTE.
COMPUTE Pos_Bike_Infra_HIGHEST=MAX(Bike_Infra_S1, Bike_Infra_S2, Bike_Infra_S3, Bike_Infra_S4, Bike_Infra_S5, Bike_Infra_S6, Bike_Infra_S7, Bike_Infra_S8, Bike_Infra_S9).

EXECUTE.
COMPUTE Pos_BldgAesthDes_HIGHEST=MAX(BldgAesthDes_S1, BldgAesthDes_S2, BldgAesthDes_S3, BldgAesthDes_S4, BldgAesthDes_S5, BldgAesthDes_S6, BldgAesthDes_S7, BldgAesthDes_S8, BldgAesthDes_S9).

EXECUTE.
COMPUTE Pos_Trees_HIGHEST=MAX(Trees_S1, Trees_S2, Trees_S3, Trees_S4, Trees_S5, Trees_S6, Trees_S7, Trees_S8,Trees_S9).

EXECUTE.
COMPUTE Pos_BldgHt_RdWdthSetbk_Ratio_Scores_HIGHEST=MAX(BldgHt_RdWdthSetbk_Ratio_Scores_S1, BldgHt_RdWdthSetbk_Ratio_Scores_S2, BldgHt_RdWdthSetbk_Ratio_Scores_S3, 

BldgHt_RdWdthSetbk_Ratio_Scores_S4, BldgHt_RdWdthSetbk_Ratio_Scores_S5, BldgHt_RdWdthSetbk_Ratio_Scores_S6, BldgHt_RdWdthSetbk_Ratio_Scores_S7, BldgHt_RdWdthSetbk_Ratio_Scores_S8, 

BldgHt_RdWdthSetbk_Ratio_Scores_S9).

EXECUTE.
COMPUTE Pos_Seg_HIGHEST=MAX(Segments_Pos_S1, Segments_Pos_S2, Segments_Pos_S3, Segments_Pos_S4, Segments_Pos_S5, Segments_Pos_S6, Segments_Pos_S7, Segments_Pos_S8, Segments_Pos_S9).

EXECUTE.

*Lowest Negative Score (best of the negative characteristics)

COMPUTE Neg_Sidewalk_LOWEST=MIN(Sidewalk_Neg_S1, Sidewalk_Neg_S2, Sidewalk_Neg_S3, Sidewalk_Neg_S4, Sidewalk_Neg_S5, Sidewalk_Neg_S6, 

Sidewalk_Neg_S7, Sidewalk_Neg_S8, Sidewalk_Neg_S9).

EXECUTE.
COMPUTE Sidewalk_Neg_Slope_S_LOWEST=MIN(Sidewalk_Neg_Slope_S_S1, Sidewalk_Neg_Slope_S_S2, Sidewalk_Neg_Slope_S_S3, Sidewalk_Neg_Slope_S_S4, Sidewalk_Neg_Slope_S_S5, Sidewalk_Neg_Slope_S_S6,

Sidewalk_Neg_Slope_S_S7, Sidewalk_Neg_Slope_S_S8, Sidewalk_Neg_Slope_S_S9).

EXECUTE.
COMPUTE Sidewalk_Neg_Slope_C_LOWEST=MIN(Sidewalk_Neg_Slope_C_S1, Sidewalk_Neg_Slope_C_S2, Sidewalk_Neg_Slope_C_S3, Sidewalk_Neg_Slope_C_S4, Sidewalk_Neg_Slope_C_S5, Sidewalk_Neg_Slope_C_S6,

Sidewalk_Neg_Slope_C_S7, Sidewalk_Neg_Slope_C_S8, Sidewalk_Neg_Slope_C_S9).

EXECUTE.

COMPUTE Neg_Street_Des_LOWEST=MIN(Neg_Street_Des_S1, Neg_Street_Des_S2, Neg_Street_Des_S3, Neg_Street_Des_S4, Neg_Street_Des_S5, Neg_Street_Des_S6, Neg_Street_Des_S7, Neg_Street_Des_S8,

Neg_Street_Des_S9).

EXECUTE.
COMPUTE Neg_Seg_S_LOWEST=MIN(Segments_Neg_Senior_S1, Segments_Neg_Senior_S2, Segments_Neg_Senior_S3, Segments_Neg_Senior_S4, Segments_Neg_Senior_S5, Segments_Neg_Senior_S6, 

Segments_Neg_Senior_S7, Segments_Neg_Senior_S8, Segments_Neg_Senior_S9 ).

EXECUTE.
COMPUTE Neg_Seg_C_LOWEST=MIN(Segments_Neg_Child_S1, Segments_Neg_Child_S2, Segments_Neg_Child_S3, Segments_Neg_Child_S4, Segments_Neg_Child_S5, Segments_Neg_Child_S6, Segments_Neg_Child_S7,

Segments_Neg_Child_S8, Segments_Neg_Child_S9).

EXECUTE.

*Highest Negative Score (worst of the negative characteristics)

COMPUTE Neg_Sidewalk_HIGHEST=MAX(Sidewalk_Neg_S1, Sidewalk_Neg_S2, Sidewalk_Neg_S3, Sidewalk_Neg_S4, Sidewalk_Neg_S5, Sidewalk_Neg_S6, 

Sidewalk_Neg_S7, Sidewalk_Neg_S8, Sidewalk_Neg_S9).

EXECUTE.
COMPUTE Sidewalk_Neg_Slope_S_HIGHEST=MAX(Sidewalk_Neg_Slope_S_S1, Sidewalk_Neg_Slope_S_S2, Sidewalk_Neg_Slope_S_S3, Sidewalk_Neg_Slope_S_S4, Sidewalk_Neg_Slope_S_S5, Sidewalk_Neg_Slope_S_S6,

Sidewalk_Neg_Slope_S_S7, Sidewalk_Neg_Slope_S_S8, Sidewalk_Neg_Slope_S_S9).

EXECUTE.
COMPUTE Sidewalk_Neg_Slope_C_HIGHEST=MAX(Sidewalk_Neg_Slope_C_S1, Sidewalk_Neg_Slope_C_S2, Sidewalk_Neg_Slope_C_S3, Sidewalk_Neg_Slope_C_S4, Sidewalk_Neg_Slope_C_S5, Sidewalk_Neg_Slope_C_S6,

Sidewalk_Neg_Slope_C_S7, Sidewalk_Neg_Slope_C_S8, Sidewalk_Neg_Slope_C_S9).

EXECUTE.
COMPUTE Neg_Street_Des_HIGHEST=MAX(Neg_Street_Des_S1, Neg_Street_Des_S2, Neg_Street_Des_S3, Neg_Street_Des_S4, Neg_Street_Des_S5, Neg_Street_Des_S6, Neg_Street_Des_S7, Neg_Street_Des_S8,

Neg_Street_Des_S9).

EXECUTE.
COMPUTE Neg_Seg_S_HIGHEST=MAX(Segments_Neg_Senior_S1, Segments_Neg_Senior_S2, Segments_Neg_Senior_S3, Segments_Neg_Senior_S4, Segments_Neg_Senior_S5, Segments_Neg_Senior_S6, 

Segments_Neg_Senior_S7, Segments_Neg_Senior_S8, Segments_Neg_Senior_S9 ).

EXECUTE.
COMPUTE Neg_Seg_C_HIGHEST=MAX(Segments_Neg_Child_S1, Segments_Neg_Child_S2, Segments_Neg_Child_S3, Segments_Neg_Child_S4, Segments_Neg_Child_S5, Segments_Neg_Child_S6, Segments_Neg_Child_S7,

Segments_Neg_Child_S8, Segments_Neg_Child_S9).

EXECUTE.

*Lowest Positive Scores (worst of the positive characteristics)

COMPUTE Pos_BldgHtSetbks_LOWEST=MIN(PosBldgHtSetbks_S1, PosBldgHtSetbks_S2, PosBldgHtSetbks_S3, PosBldgHtSetbks_S4, PosBldgHtSetbks_S5, PosBldgHtSetbks_S6, PosBldgHtSetbks_S7,

PosBldgHtSetbks_S8, PosBldgHtSetbks_S9).

EXECUTE.
COMPUTE Pos_Sidewalk_Qual_LOWEST=MIN(Sidewalk_Pos_S1, Sidewalk_Pos_S2, Sidewalk_Pos_S3, Sidewalk_Pos_S4, Sidewalk_Pos_S5, Sidewalk_Pos_S6,

Sidewalk_Pos_S7, Sidewalk_Pos_S8, Sidewalk_Pos_S9 ).

EXECUTE.
COMPUTE Pos_Buffers_LOWEST=MIN(Buffers_Pos_S1, Buffers_Pos_S2, Buffers_Pos_S3, Buffers_Pos_S4, Buffers_Pos_S5, Buffers_Pos_S6, Buffers_Pos_S7, Buffers_Pos_S8, Buffers_Pos_S9). 

EXECUTE.
COMPUTE Pos_Bike_Infra_LOWEST=MIN(Bike_Infra_S1, Bike_Infra_S2, Bike_Infra_S3, Bike_Infra_S4, Bike_Infra_S5, Bike_Infra_S6, Bike_Infra_S7, Bike_Infra_S8, Bike_Infra_S9).

EXECUTE.
COMPUTE Pos_BldgAesthDes_LOWEST=MIN(BldgAesthDes_S1, BldgAesthDes_S2, BldgAesthDes_S3, BldgAesthDes_S4, BldgAesthDes_S5, BldgAesthDes_S6, BldgAesthDes_S7, BldgAesthDes_S8, BldgAesthDes_S9).

EXECUTE.
COMPUTE Pos_Trees_LOWEST=MIN(Trees_S1, Trees_S2, Trees_S3, Trees_S4, Trees_S5, Trees_S6, Trees_S7, Trees_S8,Trees_S9).

EXECUTE.
COMPUTE Pos_BldgHt_RdWdthSetbk_Ratio_Scores_LOWEST=MIN(BldgHt_RdWdthSetbk_Ratio_Scores_S1, BldgHt_RdWdthSetbk_Ratio_Scores_S2, BldgHt_RdWdthSetbk_Ratio_Scores_S3, 

BldgHt_RdWdthSetbk_Ratio_Scores_S4, BldgHt_RdWdthSetbk_Ratio_Scores_S5, BldgHt_RdWdthSetbk_Ratio_Scores_S6, BldgHt_RdWdthSetbk_Ratio_Scores_S7, BldgHt_RdWdthSetbk_Ratio_Scores_S8, 

BldgHt_RdWdthSetbk_Ratio_Scores_S9).

EXECUTE.
COMPUTE Pos_Seg_LOWEST=MIN(Segments_Pos_S1, Segments_Pos_S2, Segments_Pos_S3, Segments_Pos_S4, Segments_Pos_S5, Segments_Pos_S6, Segments_Pos_S7, Segments_Pos_S8, Segments_Pos_S9).

EXECUTE.

*Overall highest and lowest segments score

COMPUTE OverallSegment_Senior_HIGHEST=MAX (Overall_Segment_Senior_S1,Overall_Segment_Senior_S2,Overall_Segment_Senior_S3, Overall_Segment_Senior_S4,Overall_Segment_Senior_S5,

Overall_Segment_Senior_S6, Overall_Segment_Senior_S7, Overall_Segment_Senior_S8, Overall_Segment_Senior_S9).

EXECUTE.
COMPUTE OverallSegment_Senior_LOWEST=MIN (Overall_Segment_Senior_S1,Overall_Segment_Senior_S2,Overall_Segment_Senior_S3, Overall_Segment_Senior_S4,Overall_Segment_Senior_S5,

Overall_Segment_Senior_S6, Overall_Segment_Senior_S7, Overall_Segment_Senior_S8, Overall_Segment_Senior_S9).

EXECUTE.
COMPUTE OverallSegment_Child_HIGHEST=MAX (Overall_Segment_Child_S1,Overall_Segment_Child_S2,Overall_Segment_Child_S3, Overall_Segment_Child_S4,Overall_Segment_Child_S5,

Overall_Segment_Child_S6, Overall_Segment_Child_S7, Overall_Segment_Child_S8, Overall_Segment_Child_S9).

EXECUTE.
COMPUTE OverallSegment_Child_LOWEST=MIN (Overall_Segment_Child_S1,Overall_Segment_Child_S2,Overall_Segment_Child_S3, Overall_Segment_Child_S4,Overall_Segment_Child_S5,

Overall_Segment_Child_S6, Overall_Segment_Child_S7, Overall_Segment_Child_S8, Overall_Segment_Child_S9).

EXECUTE.

Recode highest and lowest positive and negative subscale scores across multiple segments and crossings per route
****CROSSINGS****

*Highest positive score (best of the positive characteristics)

COMPUTE CrosswalkAmenities_HIGHEST=MAX(CrosswalkAmenities_C1, CrosswalkAmenities_C2, CrosswalkAmenities_C3, CrosswalkAmenities_C4, CrosswalkAmenities_C5, CrosswalkAmenities_C6, 

CrosswalkAmenities_C7, CrosswalkAmenities_C8).

COMPUTE CurbQual_HIGHEST=MAX(CurbQual_C1, CurbQual_C2, CurbQual_C3, CurbQual_C4, CurbQual_C5, CurbQual_C6, CurbQual_C7, CurbQual_C8).

EXECUTE.
COMPUTE IntsectCtrlSign_HIGHEST=MAX(IntsectCtrlSign_C1, IntsectCtrlSign_C2, IntsectCtrlSign_C3, IntsectCtrlSign_C4, IntsectCtrlSign_C5, IntsectCtrlSign_C6, IntsectCtrlSign_C7, IntsectCtrlSign_C8).

EXECUTE.

COMPUTE Pos_Cross_HIGHEST=MAX(PosCrossChars_C1,PosCrossChars_C2,PosCrossChars_C3,PosCrossChars_C4,PosCrossChars_C5,PosCrossChars_C6,PosCrossChars_C7,PosCrossChars_C8).

EXECUTE.

*Lowest Negative Score (best of the negative characteristics)

COMPUTE Road_Width_LOWEST=MIN(Road_Width_C1, Road_Width_C2, Road_Width_C3,Road_Width_C4, Road_Width_C5, Road_Width_C6, Road_Width_C7, Road_Width_C8).

EXECUTE.
COMPUTE Cross_Imped_LOWEST=MIN(Cross_Imped_C1, Cross_Imped_C2, Cross_Imped_C3, Cross_Imped_C4, Cross_Imped_C5, Cross_Imped_C6, Cross_Imped_C7, Cross_Imped_C8).

EXECUTE.
COMPUTE NegCrossChars_LOWEST=MIN (NegCrossChars_C1,NegCrossChars_C2, NegCrossChars_C3,NegCrossChars_C4,NegCrossChars_C5,NegCrossChars_C6, NegCrossChars_C7,NegCrossChars_C8). 

EXECUTE.
*Highest Negative Score (worst of the negative characteristics)

COMPUTE Road_Width_HIGHEST=MAX(Road_Width_C1, Road_Width_C2, Road_Width_C3,Road_Width_C4, Road_Width_C5, Road_Width_C6, Road_Width_C7, Road_Width_C8).

EXECUTE.
COMPUTE Cross_Imped_HIGHEST=MAX(Cross_Imped_C1, Cross_Imped_C2, Cross_Imped_C3, Cross_Imped_C4, Cross_Imped_C5, Cross_Imped_C6, Cross_Imped_C7, Cross_Imped_C8).

EXECUTE.
COMPUTE NegCrossChars_HIGHEST=MAX (NegCrossChars_C1,NegCrossChars_C2, NegCrossChars_C3,NegCrossChars_C4,NegCrossChars_C5,NegCrossChars_C6, NegCrossChars_C7,NegCrossChars_C8). 

EXECUTE.

*Lowest Positive Scores (worst of the positive characteristics)

COMPUTE CrosswalkAmenities_LOWEST=MIN(CrosswalkAmenities_C1, CrosswalkAmenities_C2, CrosswalkAmenities_C3, CrosswalkAmenities_C4, CrosswalkAmenities_C5, CrosswalkAmenities_C6, 

CrosswalkAmenities_C7, CrosswalkAmenities_C8).
COMPUTE CurbQual_LOWEST=MIN(CurbQual_C1, CurbQual_C2, CurbQual_C3, CurbQual_C4, CurbQual_C5, CurbQual_C6, CurbQual_C7, CurbQual_C8).

EXECUTE.

COMPUTE IntsectCtrlSign_LOWEST=MIN(IntsectCtrlSign_C1, IntsectCtrlSign_C2, IntsectCtrlSign_C3, IntsectCtrlSign_C4, IntsectCtrlSign_C5, IntsectCtrlSign_C6, IntsectCtrlSign_C7, IntsectCtrlSign_C8).

EXECUTE.
COMPUTE Pos_Cross_LOWEST=MIN(PosCrossChars_C1,PosCrossChars_C2,PosCrossChars_C3,PosCrossChars_C4,PosCrossChars_C5,PosCrossChars_C6,PosCrossChars_C7,PosCrossChars_C8).

EXECUTE.

*Overall highest and lowest crossings score

COMPUTE OverallCrossScore_HIGHEST=MAX (OverallCrossScore_C1,OverallCrossScore_C2,OverallCrossScore_C3,OverallCrossScore_C4,OverallCrossScore_C5,OverallCrossScore_C6, OverallCrossScore_C7,OverallCrossScore_C8).

EXECUTE.
COMPUTE OverallCrossScore_LOWEST=MIN (OverallCrossScore_C1,OverallCrossScore_C2,OverallCrossScore_C3,OverallCrossScore_C4,OverallCrossScore_C5,OverallCrossScore_C6, OverallCrossScore_C7,OverallCrossScore_C8).

EXECUTE.
****Sidewalk tally score (sum all sidewalk items with higher score denoting better quality sidewalk ****

**SENIOR****

COMPUTE ItemSum_Sidewalk_S_S1=S1_1+S1_2_recode+S1_3a_recode+S1_3b_dichot+S1_4_recode+S1_5a_dichot+S1_5b_dichot+S1_6a_dichot_S+S1_6c_recode_S+S1_7_recode_S+S1_8_dichot+S1_9_dichot.

EXECUTE.

DO IF  (S1_1 = 0).

RECODE S1_1 (0=0) INTO ItemSum_Sidewalk_S_S1.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_S_S2=S2_1+S2_2_recode+S2_3a_recode+S2_3b_dichot+S2_4_recode+S2_5a_dichot+S2_5b_dichot+S2_6a_dichot_S+S2_6c_recode_S+S2_7_recode_S+S2_8_dichot+S2_9_dichot.

EXECUTE.

DO IF  (S2_1 = 0).

RECODE S2_1 (0=0) INTO ItemSum_Sidewalk_S_S2.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_S_S3=S3_1+S3_2_recode+S3_3a_recode+S3_3b_dichot+S3_4_recode+S3_5a_dichot+S3_5b_dichot+S3_6a_dichot_S+S3_6c_recode_S+S3_7_recode_S+S3_8_dichot+S3_9_dichot.

EXECUTE.

DO IF  (S3_1 = 0).

RECODE S3_1 (0=0) INTO ItemSum_Sidewalk_S_S3.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_S_S4=S4_1+S4_2_recode+S4_3a_recode+S4_3b_dichot+S4_4_recode+S4_5a_dichot+S4_5b_dichot+S4_6a_dichot_S+S4_6c_recode_S+S4_7_recode_S+S4_8_dichot+S4_9_dichot.

EXECUTE.

DO IF  (S4_1 = 0).

RECODE S4_1 (0=0) INTO ItemSum_Sidewalk_S_S4.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_S_S5=S5_1+S5_2_recode+S5_3a_recode+S5_3b_dichot+S5_4_recode+S5_5a_dichot+S5_5b_dichot+S5_6a_dichot_S+S5_6c_recode_S+S5_7_recode_S+S5_8_dichot+S5_9_dichot.

EXECUTE.

DO IF  (S5_1 = 0).

RECODE S5_1 (0=0) INTO ItemSum_Sidewalk_S_S5.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_S_S6=S6_1+S6_2_recode+S6_3a_recode+S6_3b_dichot+S6_4_recode+S6_5a_dichot+S6_5b_dichot+S6_6a_dichot_S+S6_6c_recode_S+S6_7_recode_S+S6_8_dichot+S6_9_dichot.

EXECUTE.

DO IF  (S6_1 = 0).

RECODE S6_1 (0=0) INTO ItemSum_Sidewalk_S_S6.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_S_S7=S7_1+S7_2_recode+S7_3a_recode+S7_3b_dichot+S7_4_recode+S7_5a_dichot+S7_5b_dichot+S7_6a_dichot_S+S7_6c_recode_S+S7_7_recode_S+S7_8_dichot+S7_9_dichot.

EXECUTE.

DO IF  (S7_1 = 0).

RECODE S7_1 (0=0) INTO ItemSum_Sidewalk_S_S7.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_S_S8=S8_1+S8_2_recode+S8_3a_recode+S8_3b_dichot+S8_4_recode+S8_5a_dichot+S8_5b_dichot+S8_6a_dichot_S+S8_6c_recode_S+S8_7_recode_S+S8_8_dichot+S8_9_dichot.

EXECUTE.

DO IF  (S8_1 = 0).

RECODE S8_1 (0=0) INTO ItemSum_Sidewalk_S_S8.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_S_S9=S9_1+S9_2_recode+S9_3a_recode+S9_3b_dichot+S9_4_recode+S9_5a_dichot+S9_5b_dichot+S9_6a_dichot_S+S9_6c_recode_S+S9_7_recode_S+S9_8_dichot+S9_9_dichot.

EXECUTE.

DO IF  (S9_1 = 0).

RECODE S9_1 (0=0) INTO ItemSum_Sidewalk_S_S9.

END IF.

EXECUTE.

****CHILD***

COMPUTE ItemSum_Sidewalk_C_S1=S1_1+S1_2_recode+S1_3a_recode+S1_3b_dichot+S1_4_recode+S1_5a_dichot+S1_5b_dichot+S1_6a_dichot_C+S1_6c_recode_C+S1_7_recode_C+S1_8_dichot+S1_9_dichot.

EXECUTE.

DO IF  (S1_1 = 0).

RECODE S1_1 (0=0) INTO ItemSum_Sidewalk_C_S1.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_C_S2=S2_1+S2_2_recode+S2_3a_recode+S2_3b_dichot+S2_4_recode+S2_5a_dichot+S2_5b_dichot+S2_6a_dichot_C+S2_6c_recode_C+S2_7_recode_C+S2_8_dichot+S2_9_dichot.

EXECUTE.

DO IF  (S2_1 = 0).

RECODE S2_1 (0=0) INTO ItemSum_Sidewalk_C_S2.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_C_S3=S3_1+S3_2_recode+S3_3a_recode+S3_3b_dichot+S3_4_recode+S3_5a_dichot+S3_5b_dichot+S3_6a_dichot_C+S3_6c_recode_C+S3_7_recode_C+S3_8_dichot+S3_9_dichot.

EXECUTE.

DO IF  (S3_1 = 0).

RECODE S3_1 (0=0) INTO ItemSum_Sidewalk_C_S3.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_C_S4=S4_1+S4_2_recode+S4_3a_recode+S4_3b_dichot+S4_4_recode+S4_5a_dichot+S4_5b_dichot+S4_6a_dichot_C+S4_6c_recode_C+S4_7_recode_C+S4_8_dichot+S4_9_dichot.

EXECUTE.

DO IF  (S4_1 = 0).

RECODE S4_1 (0=0) INTO ItemSum_Sidewalk_C_S4.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_C_S5=S5_1+S5_2_recode+S5_3a_recode+S5_3b_dichot+S5_4_recode+S5_5a_dichot+S5_5b_dichot+S5_6a_dichot_C+S5_6c_recode_C+S5_7_recode_C+S5_8_dichot+S5_9_dichot.

EXECUTE.

DO IF  (S5_1 = 0).

RECODE S5_1 (0=0) INTO ItemSum_Sidewalk_C_S5.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_C_S6=S6_1+S6_2_recode+S6_3a_recode+S6_3b_dichot+S6_4_recode+S6_5a_dichot+S6_5b_dichot+S6_6a_dichot_C+S6_6c_recode_C+S6_7_recode_C+S6_8_dichot+S6_9_dichot.

EXECUTE.

DO IF  (S6_1 = 0).

RECODE S6_1 (0=0) INTO ItemSum_Sidewalk_C_S6.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_C_S7=S7_1+S7_2_recode+S7_3a_recode+S7_3b_dichot+S7_4_recode+S7_5a_dichot+S7_5b_dichot+S7_6a_dichot_C+S7_6c_recode_C+S7_7_recode_C+S7_8_dichot+S7_9_dichot.

EXECUTE.

DO IF  (S7_1 = 0).

RECODE S7_1 (0=0) INTO ItemSum_Sidewalk_C_S7.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_C_S8=S8_1+S8_2_recode+S8_3a_recode+S8_3b_dichot+S8_4_recode+S8_5a_dichot+S8_5b_dichot+S8_6a_dichot_C+S8_6c_recode_C+S8_7_recode_C+S8_8_dichot+S8_9_dichot.

EXECUTE.

DO IF  (S8_1 = 0).

RECODE S8_1 (0=0) INTO ItemSum_Sidewalk_C_S8.

END IF.

EXECUTE.

COMPUTE ItemSum_Sidewalk_C_S9=S9_1+S9_2_recode+S9_3a_recode+S9_3b_dichot+S9_4_recode+S9_5a_dichot+S9_5b_dichot+S9_6a_dichot_C+S9_6c_recode_C+S9_7_recode_C+S9_8_dichot+S9_9_dichot.

EXECUTE.

DO IF  (S9_1 = 0).

RECODE S9_1 (0=0) INTO ItemSum_Sidewalk_C_S9.

END IF.

EXECUTE.
******MEAN of overall sidewalk tally score****

COMPUTE ItemSum_Sidewalk_S_MEAN=MEAN (ItemSum_Sidewalk_S_S1, ItemSum_Sidewalk_S_S2, ItemSum_Sidewalk_S_S3, ItemSum_Sidewalk_S_S4, ItemSum_Sidewalk_S_S5, ItemSum_Sidewalk_S_S6, 

ItemSum_Sidewalk_S_S7, ItemSum_Sidewalk_S_S8, ItemSum_Sidewalk_S_S9). 

EXECUTE.

COMPUTE ItemSum_Sidewalk_C_MEAN=MEAN (ItemSum_Sidewalk_C_S1, ItemSum_Sidewalk_C_S2, ItemSum_Sidewalk_C_S3, ItemSum_Sidewalk_C_S4, ItemSum_Sidewalk_C_S5, ItemSum_Sidewalk_C_S6, 

ItemSum_Sidewalk_C_S7, ItemSum_Sidewalk_C_S8, ItemSum_Sidewalk_C_S9). 

EXECUTE.
******FIRST/CLOSEST overall sidewalk tally score***

RECODE ItemSum_Sidewalk_S_S1 (ELSE=Copy) INTO ItemSum_Sidewalk_S_FIRST.

EXECUTE.

RECODE ItemSum_Sidewalk_C_S1 (ELSE=Copy) INTO ItemSum_Sidewalk_C_FIRST.

EXECUTE.
****any missing/non-continuous sidewalk across segments****

RECODE S1_3a_recode (0=1) INTO S1_Missing_SW.

EXECUTE.

RECODE S2_3a_recode (0=1) INTO S2_Missing_SW.

EXECUTE.

RECODE S3_3a_recode (0=1) INTO S3_Missing_SW.

EXECUTE.

RECODE S4_3a_recode (0=1) INTO S4_Missing_SW.

EXECUTE.

RECODE S5_3a_recode (0=1) INTO S5_Missing_SW.

EXECUTE.

RECODE S6_3a_recode (0=1) INTO S6_Missing_SW.

EXECUTE.

RECODE S7_3a_recode (0=1) INTO S7_Missing_SW.

EXECUTE.

RECODE S8_3a_recode (0=1) INTO S8_Missing_SW.

EXECUTE.

RECODE S9_3a_recode (0=1) INTO S9_Missing_SW.

EXECUTE.

COMPUTE Missing_Sidewalk=SUM(S1_Missing_SW, S2_Missing_SW,S3_Missing_SW,S4_Missing_SW,S5_Missing_SW,S6_Missing_SW,S7_Missing_SW,S8_Missing_SW,S9_Missing_SW).

EXECUTE.

RECODE Missing_Sidewalk (MISSING=0).

EXECUTE.

RECODE Missing_Sidewalk (1 thru Highest=1) INTO MIssing_Sidewalk_dichot.

EXECUTE.
*****CROSSING PRESENT OR NOT --- INTERSECTIONS AND MID SEGMENT****

**** intersections***

RECODE C1_1a (1=1) (0=1) (MISSING=0) INTO Crossing1.

EXECUTE.

RECODE C2_1a (1=1) (0=1) (MISSING=0) INTO Crossing2.

EXECUTE.

RECODE C3_1a (1=1) (0=1) (MISSING=0) INTO Crossing3.

EXECUTE.

RECODE C4_1a (1=1) (0=1) (MISSING=0) INTO Crossing4.

EXECUTE.

RECODE C5_1a (1=1) (0=1) (MISSING=0) INTO Crossing5.

EXECUTE.

RECODE C6_1a (1=1) (0=1) (MISSING=0) INTO Crossing6.

EXECUTE.

RECODE C7_1a (1=1) (0=1) (MISSING=0) INTO Crossing7.

EXECUTE.

RECODE C8_1a (1=1) (0=1) (MISSING=0) INTO Crossing8.

EXECUTE.

*****mid segment crossings***

RECODE C1_1e (1=1) (0=0) (MISSING=0) INTO MidCross1.

EXECUTE.

RECODE C2_1e (1=1) (0=0)(MISSING=0)  INTO MidCross2.

EXECUTE.

RECODE C3_1e (1=1) (0=0) (MISSING=0) INTO MidCross3.

EXECUTE.

RECODE C4_1e (1=1) (0=0) (MISSING=0) INTO MidCross4.

EXECUTE.

RECODE C5_1e (1=1) (0=0) (MISSING=0) INTO MidCross5.

EXECUTE.

RECODE C6_1e (1=1) (0=0) (MISSING=0) INTO MidCross6.

EXECUTE.

RECODE C7_1e (1=1) (0=0) (MISSING=0) INTO MidCross7.

EXECUTE.

RECODE C8_1e (1=1) (0=0) (MISSING=0) INTO MidCross8.

EXECUTE.

 ****TOTAL number of crossings per route***

COMPUTE NumberIntersections=Crossing1+Crossing2+Crossing3+Crossing4+Crossing5+Crossing6+Crossing7+Crossing8.

EXECUTE.

COMPUTE NumberMidCross= MidCross1+MidCross2+MidCross3+MidCross4+MidCross5+MidCross6+MidCross7+MidCross8.

EXECUTE.

COMPUTE NumberCross=NumberIntersections+NumberMidCross.

EXECUTE.
Recode for cul-de-sac presence. Can be coded after merging with dataset that contains routes without cul-de-sacs
RECODE OverallCdScore_D1 (MISSING=0) (ELSE=1) INTO CD_presence.

EXECUTE.
COMPUTE OverallCDScore_BEST=MAX(OverallCdSScore_D1, OverallCdSScore_D2).

EXECUTE.
